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A knot diagranﬂ Cs €3 €2 €4 CT  Ci1  C9  Cg

Ideals for irreducible component#ﬂ)f Xpar
It = (—611u" — 377u'? + - - + 3054b + 169, —3787u'® — 7405u'? + - - - + 3054a — 21955,

't 4+ 2u 4 T4 1)
I¥ = (b, —u® +u?+a—3u+2, u! —u®+3u® — 2u+1)

* 2 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I} = (—611u'3 — 377Tu'? 4 - . - 4 3054b + 169, —3787u'3 — 7405u'? 4 - ..

3054a — 21955, w4 + 2u!® + ... + Tu + 1)

(i) Arc colorings

o= (2
)

1.24001w'3 4 2.42469u'2 4 - - - 4+ 26.9705u + 7.18893
0.200065u' + 0.123445u'? + - - - + 1.85265u — 0.0553373

)

1.03995u'3 + 2.30124w'2 + - - - + 25.1179u + 7.24427 )

ag =
aq =
ag =
az =

0.200065u'3 + 0.123445u'2 + - - - + 1.85265u — 0.0553373
1.03995u'3 + 2.30124u'? + - - - + 25.1179u + 7.24427 )

as = (0 399804u'? + 0.629666u'? + - - - + 4.44204u + 0.166012

0.599869u'® + 0.753111u'? + - - - + 5.29470u + 0.110675
—0.400458u'? — 0.864113u'? + - - - — 4.96857u — 0.612639

0.612639u!'® + 0.824820u'2 + - - - + 2.56189u — 0.680092
—0.446627u'? — 0.892600u'2 + - - - — 4.08841u — 0.599869

o)
u +1
ut + 2u?
1.00033u'3 +1.61722u'2 + - - - +10.2633u + 0.723314 )

—0.400458u'® — 0.864113u'? + - - - — 4.96857u — 0.612639

1.00033u'® + 1.61722u'? + - - - 4 10.2633u + 0.723314
as = \ —0.400458u'® — 0.864113u'? + - - - — 4.96857u — 0.612639

a5 =

ar =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 139513  2487,,12 4 ... 4 11407, _ 1470



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy Wt =P —3u+1
€2 ut —utP o B 1
c3, C7 u e+ 4720+ 16
Cs u' — 20 + -+ 540u + 200
C6,C10 =2 4 —u 41
cg, Cg, C11 w2+ Tu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e y eyt By +1
Co Y 37y T3y 4 1
3,7 Yt =27y .. — 832y + 256
Cs y' + 82y"3 + ... 4 531600y + 40000
€6, C10 y 2yt Ty + 1
cs, Cg, C11 y M 22y Ty 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.571781 4 0.5619721
a = —0.501422 + 0.0635591
b= —0.607051 + 0.2390271

—0.35154 + 1.844091

—0.79789 — 4.839961

u = —0.571781 — 0.5619721
—0.501422 — 0.0635591
b= —0.607051 — 0.2390271

—0.35154 — 1.844091

—0.79789 + 4.839961

0.191932 + 1.3328201
0.818040 — 0.2528611
1.48559 + 0.474421

u =
a =

b:

7.00688 4 0.559481

2.27714 — 0.758741

0.191932 — 1.3328201
= 0.818040 + 0.2528611
= 1.48559 — 0.474421

u =

7.00688 — 0.559481

2.27714 + 0.758741

= —0.004664 + 0.6212501
= 0.877799 + 0.4989191
= 0.331213 + 0.8188851

0.65784 4 1.530441

1.45925 — 4.482151

= —0.004664 — 0.6212501
= 0.877799 — 0.4989191
= 0.331213 — 0.8188851

0.65784 — 1.530441

1.45925 + 4.482151

= —0.38042 + 1.439661
= —0.689794 — 0.2822601

6.27413 + 5.417551

1.11952 — 5.074431

—0.38042 — 1.439661
—0.689794 + 0.2822601
—1.401110 — 0.1399171

6.27413 — 5.417551

1.11952 + 5.074431

—0.206958 + 0.1977691
= 2.96034 + 2.057391
—0.386385 + 0.4324491

—1.89748 + 0.701661

—5.60702 4- 2.764771

—0.206958 — 0.1977691
= 296034 — 2.057391

b
U
a
b
U
a
b
U
a
b= —1.401110 + 0.1399171
U
a
b
U
a
b
U
a
b= —0.386385 — 0.4324491

—1.89748 — 0.701661

—5.60702 — 2.764771




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.07913 + 1.850591
0.707024 — 0.6114191
2.31698 — 0.446561

18.9281 — 1.00221

1.174737 — 0.2091711

0.07913 — 1.850591
0.707024 + 0.6114191
2.31698 +- 0.446561

18.9281 + 1.00221

1.174737 4 0.2091711

b:

—0.10723 + 1.885341
—0.671987 — 0.6154461
—2.23924 — 0.566901

18.7301 + 8.06161

0.87427 — 4.093851

a =

b:

—0.10723 — 1.885341
—0.671987 4 0.6154461
—2.23924 + 0.566901

18.7301 — 8.06161

0.87427 + 4.093851




IL. 1* = (b, —u+uv? +a—-3u+2, u* —u+3u?—-2u+1
2

(i) Arc colorings

o= (1)

ag —

w—u?+3u—2
ayq =

ag =

asz = O
w—u?+3u—2
ag = u

(
(
(
(

(
w= (%)
(

(

(

(

(ii) Obstruction class =1

(iii) Cusp Shapes = 6u?® — 6u? + 17u — 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)*
4
C2,Cq (u =+ 1)
C3, Ct u4
Cs, Cg, C9 w—uwd+3u?—2u+1
6 ut —ud 4wt 1
C10 wrtudrut+1
c11 w4 +3u+2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
Cs,Cg, Cg y4+5y3+7y2+2y+1
C11
¢6, €10 v Y+ 3+ 2y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
0.395123 + 0.5068441
= —0.95668 + 1.227197 —1.85594 — 1.415101 | —5.13523 + 6.856271
= 0
= 0.395123 — 0.5068441
= —0.95668 — 1.227197 —1.85594 4 1.415101 | —5.13523 — 6.856271
= 0

0.10488 4 1.552491

—0.043315 + 0.6412001 5.14581 — 3.163961 0.63523 4 2.294711
0

0.10488 — 1.552491

—0.043315 — 0.6412001 5.14581 4 3.163961 0.63523 — 2.294711
0

> Q& €|l & 8| & 8|l & €
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u— D" = 5u® 4+ = 3u+1)

C2 (u+DH W —u'3 - —5u+1)
3,7 ut (uM +ut® 4o T2u + 16)

ca (u+ 1" (u" =5u" 4+ = 3u+1)

Cs (u* —u® 4 3u? — 2u + 1) (u'* — 2u'® + - - 4 540u + 200)
Co (u* —ud +u? + 1) =20 4+ —u41)
s, Co (u* —ud +3u® — 2u+ 1) (u* + 20 + - 4 Tu+ 1)

c10 (u* +ud +u?+ 1) — 2P+ —u41)

c11 (u* +u? +3u +2u+ 1) (u* + 20" + -+ Tu+ 1)

11



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢4 ((y =N +y? +-- + 5y +1)
€2 (=DM +37y"° + -+ T3y +1)

¢, 7 y(y't — 27" .. — 832y + 256)
¢ 4 3 2 14 13
5 (y* +5y° +7y* + 2y +1)(y " + 82y~° + - - - + 531600y + 40000)

€6 €10 '+ + 37 + 2y + D+ 2 4 Ty + 1)

€8, Cy, C11 (W + 502 + T+ 2y + D)y 22y Ty 1)
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